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gihkjmlonoj%pojrqtstuwv]loxyj+zXh|{}v]q}~�s}j+pa��q"xyjm��l:nav]~y�RnczXhf�Rnaz:j

ψ(x) =

{
A |x| ≤ a
0 |x| > a

.

j$���Q�Rq}�%jRx�~y�|jRqLh|{Ss}jm��l:nov�~���n	zXhf��noz:jo�
� ����jRxyv�l:xyjRq�xyj�p:q}� � j � ~yx�~wz:j�zmzXh��$l:h"xwj�pojRqSs}uyv�l:xyj�s}h�n:�$j�lon��+���%h�n$st�fv]���%p:qth|nozX~wzX��h�n$stq}h

p � p+dp
�

v|�%��jrxwv]l:xwjrqLh|xT��jrxy�RqLh|{tpah|q}j�zX�%zXhfx��${L�Rp�h�q�jRzX��qthk{
X̂ � P̂ � X̂2

�

U1VXWRY[Z]\_^a`cb<d��
� jRz:j+xwj���lonov]~y�RnczXhf��noz:j

ψ(x) =
N

x2 + a2
.

j$���Q�Rq}�%jRx�~y�|jRqtxwj:�
� ����jRxyv�l:xyjRq

φ(p)
�

v|�%��jrxwv]l:xwjrq
〈xn〉
�D�m��l:����jrxy�Rq}h|{LzXh

n
{S��n	v��Rni�Rh|qt��h�n$sthk{��

zo����jRxyv�l:xyjRq
〈p〉 � 〈p2〉

�
hk�%��jrxwv]l:xwjrq

∆x � ∆p � v��R�%p:q}� � j�z4j�{Su<�%~w{S�%���$l:h ∆x ∆p ≥ ~/2
�
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�1�Rna{S~wzXh�q�jrq�l:naj � jrq}qth|q}j4���Rq}��jRz:j0p��Rq¡l:n¢hk{tv|jrxy�Rn � l:n¢p��rsth|nov]~wjrx1zXh�xHs}~�p���zXh|x£s�jczXh � ~�q�jRv V (x) =
g δ(x)(g > 0)

q}h�poqthk{Sh|n�s�jRzX�mh�n¤xwj�¥a�Rl:q�j:¦
g

V0

0

j$�¡§D{}v]q}~ � ~�q�xwj�����qt��j���h�n:h|q}jRx>zXh+xwj���l:nav]~y�Rn�z:hm��noz:j�h|n�xwjR{�zX~���h�q}h�n$sthk{Q�|�Rnoj�{ � xwjR{�v]��nozX~wv]~y�Rn:hk{�z:hv]��n�s}~�nil:~wz:j�za¨�zX~w{}v]�Rn$s}~�nil:~wz:jRzT�
� ����jRxyv�l:xyjRqLx��${"v]�ih]¥av�~�h|n$sth|{"z:h�q}h]©ah]ªX~���n � stq�jrno{t�%~y{t~���nT�v|�+�m�1���+�%{th�q�«rn	x��${"v]�ih]¥av�~�h|n$sth|{"z:h�q}h]©ah]ªX~���n � stq�jrno{t�%~y{t~���n	{t~T�$l:~�s}jr�%�${Lxyj%zXh|x£s�j��
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�1�Rna{S~wzXh�q�jrqLh|x<pa�Rsth�nav]~wjrxTq}h�p:q}h|{th�n$s�jRzX�mh�n¤xyjm¥o��l:q�j�����qt��j�zX�mp��Rq"lon	hk{tv|jrxy�Rn	h�n

x = 0
zXh¡jRx£s}l:q�j

V0 �l:noj � jRqtq}h�q�jm~�nX¥an:~£s�j+h�n
x = a > 0

¦

E

V0

V = ∞

0 a
j$�¡§D{}v]q}~ � ~�q�xwj�����qt��j4�Rh�noh�q�jrx�zXhmxwjR{�{t�Rxylov]~y�Rnoh|{�h|{Ss}jRv�~���nojrq}~wjR{�v��Rn

E > V0

��loh+zXhk{tv�qt~ � h�n�lon�©olr¬@�
v]��no{@s�jrn$sth�zXhfpojRqSs}uyv�l:xwjR{�xyjRn:�|j�z:jR{"z:h|{}zXh

−∞ ­ jRv]~wj+xyj%zXh|qthkv ­ j:�� �m®¯�%p��Rn:h|q"xyj�{"v]�RnazX~yv�~���n:h|{LzXh¡v��Rn$st~ynil:~wz:jRz<�
v|� � h�¥on:~yq"h�x°v��ih]¥av�~�h|n�s}hfzXh�stq�jrno{t�%~y{t~y�Rn0z:hfxyj+����noj

x < 0
j+xyj%�|�Rnoj

0 ≤ x < a
�

zo�m§8nav]�Rn$s}q}jRqDh|{Ssth�v]�ih]¥�v]~yh�n$sth�zXh�s}q}jRno{t�+~w{t~���n�h�n0x��${1v|jR{t��{D{t~y�Rl:~yh�n$sthk{�¦
2p2 a = π

2
~ � 2p2 a = π ~ �zX�RnazXh

p2 =
√

2m (E − V0 ) � E hk{Lxyj+h|n:h�q}�Ruwjmz:hfxyj�{Lpojrqtstuwv]l:xwjR{�~ynov]~wzXh|n�s}h|{|�






